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QUESTION 1

A 64-bit processor can theoretically address approximately how much hard drive space? 

A. 16TB 

B. 64TB 

C. 16EB 

D. 64EB 

Correct Answer: C 

 

QUESTION 2

An administrator recently installed a new array controller into a server. When the server is running POST the controller
does not appear as present. Which of the following could be the reason for this? 

A. The server BIOS firmware is out-of-date. 

B. The server does not have the correct drivers. 

C. The server hard drives have not begun to spin. 

D. The server has too little memory installed. 

Correct Answer: A 

 

QUESTION 3

Before setting up a policy regarding scheduled deletion of email archives, it is best to check which of the following
FIRST? 

A. Help desk guidelines 

B. End user input 

C. Legal requirements 

D. Company policies 

Correct Answer: C 

 

QUESTION 4

A company regularly switches operations to a disaster contingency site in order to test the disaster recovery plan.
Operations always appear uninterrupted to company users and there is no downtime. Which of the following alternate
site types does the company have? 
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A. Warm site 

B. Cold site 

C. Hot site 

D. Standby site 

Correct Answer: C 

 

QUESTION 5

An administrator has figured out a possible cause to a problem. Which of the following is the NEXT step the
administrator should take? 

A. Implement the solution. 

B. Verify full system functionality. 

C. Establish a plan of action to identify the problem. 

D. Test the theory. 

Correct Answer: D 
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